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3. (1) In game (A), (i) find the set of all pure strategy Nash equilibria (8%); (ii) find all subgame perfect
equilibrium (12%).
(2) If the stage game (B) is repeated oo times, find (and prove) a subgame perfect equilibrium where
the equilibrium path is ((C,C) (C,C),(C,C)......... ) (156%)
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4. Consider a linead demand p =g = b@Q. Suppose there are two firmus (1 and 2) in the market and the
two firms have the same productien, cost_funetion™eg,, (i) Eind"the equilibrium profits for Cournot
and Stackelberg (firm 1 moves first) models. (ii) Explain the role of "information" in the Stackelberg

model. (15%)
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